<ZF 1-2E>

11A78 (1) a—+tEH12—>16M|

5 EBIBLLHI F—F A2k

5—188
24

5—2#
24

5 EBIBLLHI F—F A2k

5—188
3

5—2#
3L

HARIERF

HAIRF

HARIERF

<3F—LDTOvy>

<4AF—LODTOYH>

<5F—LDTOvy>

1—2:3—
2—4-3—

4-1—
5-1—

1—-2:2—3:1-3

a—k A -k A
(#% 1%';) (NO. 1~NO. 2) (#% 2%") (NO. 3~NO. 4)
1 2 3 4 1 2 3 4 5
e | BrE| Y | erE| o 0§ 1% . HHME | -
= @iEn) | (B RIS e | &R (A) SPD A) PG eLo) e | IEf
== ﬁﬁo
5= (A)
HnE
(FE5) SPD
B 1%
(B) (A)
HE R
(Z2h) .
HnE
(BTLD)
v
<&¥F 4-55> 11A148 (1) a—FEHK12—>16E
a—k A a—k A
(ZF 4%) (NO. 1~NO. 3) (ZF 5—1&) (NO. 4~NO. &)
1 2 3 4 5 1 2 3 4 5
YsTC | Adven | BAE | WT | avica | g | Ik T B Ty | ma | e
YSTC 7"’(15 "
Advan g@s
HE :
(AR%ER) VT
1%
(D)
AMICA
a—k A
(ZF 5—2) (NO. 5~NO. 6)
1 2 3 4 5
Bk Aé"‘gfg Bitz | B8 | &L
[BEBIELLRIN—F A a
5—14
14 ALPHA
5— o &3F3
1L
Blitz

1—2:3—4:1—3-2—4-1—4-2—3

4—5:1—3




<&¥F 6H>

a—k~ B

(NO. 1~NO. 2)

(%ZF 6—18)
1 2

4

118148 (1) a—rEH12—16T

YSTC
(A1)

=F=
(nVF3R'%)

B

0%
(B)

AR | IRk

YSTC
(Rt

=¥
(NFER'%)

L]

:01%
(B)

J—k B
(#% 6_2%[5) (NO. 3~NO. 4)
1 2 3 4
Jyrel

Eb\f N L.

DTS wra &Y(S)To 1| B8 | IEGL
HHE
(FNUE-)
WTA
gy el
(B)
&YSTC
yb1a

<&xF 7&H>

a—k B
(NO. 1)

(ZZF 7—1%3)

11ASB (KAL) a—rE16m

#I18
(FrvE—)

TR
(Melody)

CART

B
(B)

AR | ek

#L18
(FrvE—)

IR
(Melody)

CARY

RIS
(B)

a—k B
(ﬁ% 7_2%5) (NO. 2~NO. 3)
1 2 3 4

myg |sum-7| TYR | T | Ma | IEk
Py 5
SUM-7
IR
(wE=RYT 1)
HrETC

a—k~ B
(NO. 4)

(ZF 7—3%)
1 2

U7

HnE
(V&EDbY)

RST

B8 | IEGL

RIS
(&)

FrUT

HNE
(LEDY)

RST

<4F—LDOTOys>
HAIEF 1-2-3—4
1—3:2—4
1—4-2—3




